ﬁ ‘ @mg f Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
6, 658 x 1000 = 5,968 x 1000 =
3,855 % 10 = 5,078 x 100 =
8,534 x 10 = 1,235 x 1000 =
6,019 x 10 = 6,324 x 10 =
9,302 x 10 = 2,207 x 1000 =
3,298 x 10 = 7,353 x 1000 =
4,373 x 100 = 5,702 x 100 =
3,858 x 1000 = 3,79 x 10 =
2,386 x 100 = 9,049 x 10 =
6,618 x 10 = 8,712 x 100 =
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Multiplicera decimaler med 10,100,1000

namn:

6, 658 x 1000 = 6658

3,855 x 10 = 38.55

8,534 x 10 = 85.34

6,019 x 10 = 60.19

9,302 x 10 = 93.02

3,298 x 10 = 32.98

4,373 x 100 =437.3

3,858 x 1000 = 3858

2,386 x 100 = 238.6

6,618 x 10 = 66.18

Datum:

5,968 x 1000 = 5968

5,078 x 100 = 507.8

1,235 x 1000 = 1235

6,324 x 10 = 63.24

2,207 x 1000 = 2207

7,353 x 1000 = 7353

5,702 x 100 = 570.2

3,79 x10=2379

9,049 x 10 = 90.49

8,712 x 100 = 871.2
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